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QUESTION 1 Right mark: 1 Negative mark: 0.25

Teh SHMER A Teh S T 18200 ST F 9%, T TE o TTA ADAT HR 13.75% HIATH [ ) o @ i
T foham) Tfe sh1g g TEt & ST, AT SHeRT AT T T grm? ) e @ B2

Wl Answered & Marked far

A shopkeeper sold an article for Rs18200 with a discount of 9% and gained e a1

LA NniIvue

13.75%. If no discount was allowed, what would be his profit percentage?
(RBI ASSISTANT 2020) | . ...

I 9 10 1 12

1) 35% S
s
3) 42% ) =] [ [z
4) 25% Bl

5) 30%

Mark for Review & Mext Clear Respanse
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Question Type : singlechoice

QUESTION 1 Right mark: 1 Negative mark: 0.25

T JeRTE 3 Uk ST ThT 18200 T H 9% T TE o A T AR 13.75% HIemd |8 30

ue feRam qﬁaﬁé?@qﬁﬁﬁ'ﬁﬁ, AT IERT ATH T ST TRTT? ) Ao tae

A shopkeeper sold an article for Rs18200 with a discount of 9% and gained e

13.75%. If no discount was allowed, what would be his profit percentage? “' £ [ 1
(RBI ASSISTANT 2020) ||

I i o

1) 35% L] (o] (] [ =)

2) 40% SHEE

3) 42% B ®

4) 25%

S) 30% :

Mark for Review & Next Clear Response




QUESTION 2 Right mark: 1 Negative mark: 0.25
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Question Type : singlechoice

<1 TR A¥fi ST ST Jod ST 81 AT A9 3 8 Teh I 15% hATT TTRAT | @ o @ e
SATAT & SR gadt ArforT wefi o6 forsha wear wgelt anfonT wefie & 3400 Tur s1feren 2 fo
HeT T 20% & AT Teddeh STORT WS ST TRTd Hod T 22

Cost price of two washing machine is same. One of the washing machine is sold at a

profit of 15% and the Selling Price of another washing mashing machine is Rs3400 more |

than the first one. The net profit is 20%. What is the cost of each washing machine? I

(LIC ASSISTANT MAINS 2019) |~
1) 32000 i el
2) 35500 BEEE
3) 34000 =

4) 36000

5) NOT -

Mark for Review & Next Clear Response
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QUESTION 2 Right mark: 1 Negative mark: 0.25

21 TSI WY ShT ST ot Wt 81 AT woft § & Ueh Bl 15% HATH WA [ 5 oo @ e
AT & it gt R woft o s e weet s Wt @ 3400 T arfrem d (o0

v Review

HTA TTH 20% T TV Tk ATIRT A T AW T T 52

Choose a Question

Cost price of two washing machine is same. One of the washing machine is sold at a "7 IR

profit of 15% and the Selling Price of another washing mashing machine is Rs3400 more BEEE
than the first one. The net profit is 20%. What is the cost of each washing machine? ' e i) L] s

(LIC ASSISTANT MAINS 2019) |~~~
1) 32000 ol ]
2) 35500 e el e b
3) 34000 &
4) 36000
5) NOT |

Mark for Review & Next Clear Response
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QUESTION 3 Right mark: 1 Negative mark: 0.25

P

“I Answered v Not Answered

Teh STIRT & U1 600 R =rtaret 2, TRt Ueh 9T 9 15% AT WS AT AT |0 @ e
20% BT T TSAAT Bl HeA THATHRT, I8 et 6% hl T BT 31 3T 20% T W [ [Seae

TRt Tt S=T?
A trader has 600 kgs of rice, a part of which he sells at 15% profit and the _“ =

6 7 8

remaining quantity at 20% loss. Overall, he incurs total loss of 6% . What is the I ][] [l

quantity of rice he sold at 20% loss? (LIC ASSISTANT MAINS 2019) L s
1) 300kg g ]| 10| 2
) kg T
3) 360kg (2]

4) 210kg N
5) 500kg '

Mark for Review & Next Clear Response
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QUESTION 3 Right mark: 1 Negative mark: 0.25
Teh SITATY o UTH 600 ToRT TTaet 2, RIEeRt Uk IR a8 15% ATH W TR AT ATAT [ v @ e
20% rf o Arere 31 oot Foremreny, 3 e 6% A AR B I 20% wRR om0
A trader has 600 kgs of rice, a part of which he sells at 15% profit and the St -
remaining quantity at 20% loss. Overall, he incurs total loss of 6% . What is the ) S e
quantity of rice he sold at 20% loss? B 1! j 5 ' :
1) 300kg (LIC ASSISTANT MAINS 2019) EHE
2) 410kg S
3) 360kg ek

4) 210kg

5) 500kg

Mark for Review & Next Clear Response




Section

igigiar BANK 2023

Question Type : singlechoice

qTH T U foh S0 AT TEHE Jod T8 10% AT 31 g51 S ag urfeafle e (g g e
39 75 T SHferch & S B, A W 5% 1T | TIEHH B SAfhA geAw I | g =
AT 25% ohY T T § 3 THTERI Rl 5% T W el 22 e
Tripti found that she had made a loss of 10% while selling her smartphone. She also ; ﬂjmm .
found that had she sold it for Rs75 more, she would have made a profit of 5%. What is sl el 2][ e
the marked price of smartphone when Tripti gives a discount of 25% and sold the l o || 1ol uj| 2
smartphone for a 5% profit? (IBPS CLERK PRE 2021) |l® " 1® "
1) Rs. 500 2 l ; ’ ; :j
2) Rs.525 ===
3) Rs. 450 i

4) Rs. 600

5) NOT !

Mark for Review & Next Clear Response Save & Next
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Question Type : singlechoice

QUESTION 4 Right mark: 1 Negative mark: 0.25

AT = T 36 38 STUHAT THIEHI S<id €0 10% T 31 531 30 a8 Wit urn R afg sem [ e s

TH 75 SO 3TFerek | SIS EIAT, A1 38 5% KT AT BraT| TATSH I T 37 Tehd Hedr o & Wa
AT 25% 61 T IAT § X TIEHIN Y 5% TATH W Je 82

Tripti found that she had made a loss of 10% while selling her smartphone. She also

found that had she sold it for Rs75 more, she would have made a profit of 5%. What is s (el 7]l s
the marked price of smartphone when Tripti gives a discount of 25% and sold the I : 1° 1; | :
smartphone for a 5% profit? (IBPS CLERK PRE 2021) = [ T T
1) Rs.500 =l e e
2) Rs. 525 L=zl
3) Rs. 450 .

4) Rs. 600

Mark for Review & Next Clear Response




QUESTION 5 Right mark: 1 Negative mark: 0.25
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T ASHT {oTshell ATTA 7o | 40% 3TFEIeh TATaet shi chivd 3ifehd ohidT § ST gTaT
AT § 1o 9% 15% i T W ATaet A4l 8, Ak 98 1 TR o a1 850 7 &

HTT ST STANT HTAT 31 IHHT THet AATH TFavTa 7 shitara?

A dishonest seller marks the price of Rice 40% above the cost price and claims

that he sells Rice at a discount of 15% but, he uses a measure of 850 gm instead I o[t (2]
of 1 Kg . Find his overall profit percent? (RRB CLERK PRE 2021) |.° “ ©
b 35 v% T
2) 0% = e
3) 45% =D

4) 30 %

5) NOT

Mark for Review & Next Clear Response
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Question Type : singlechoice

QUESTION 5 Right mark: 1 Negative mark: 0.25

=

Tk ASHT {Tshell ATTA 7o | 40% 3TTEIeh TATaet shi chivd 3ifehd ohidT § 3T gTaT
AT § 1o 9% 15% i T W ATaet A4l 8, Ak 98 1 TR o a1 850 7 &

m Answered v Not Answered

Marked for
Review

Answered & Marked for
v Review

1 91 | Not Visited

HTY ST ITANT AT g IEHT THeT AATH T(A9Ta FTA hlITeTar? VDE
A dishonest seller marks the price of Rice 40% above the cost price and claims zfzﬁ
that he sells Rice at a discount of 15% but, he uses a measure of 850 gm instead I o |[ ][ ][ 2
of 1 Kg . Find his overall profit percent? (RRB CLERK PRE 2021) | °/ “ =/ ®
b 1% e
2) 40 % el (e [
3) 45 % BB

4) 30 %

S) NOT

Mark for Review & Next Clear Response




QUESTION 6 Right mark: 1 Negative mark: 0.25

Ueh ehTa I ST st 31 forent st ffSra snta 2, ues sh shimd 60 T i feheTiamd ST [ e @ o
it S 105 T W et 31 3w o wsmet # forerman wam o seeht wefem srquma 70 2 | @
o Ife og fatsra forem &Y 100 Ta e ferenams &t =3 & a=rat 2, 9 S®eRT oy utasra ’

Section % |
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Question Type : singlechoice

foer e PP
A shopkeeper blends two varieties of sugar, one costing Rs 60 per Kilogram and 00
other Rs 105 per kilogram. The respective ratio of quantities they were mixed in b el

was 7 : 2. If he sold the mixed variety at Rs.100 per kilogram, how much was his

profit percentage?

1) 34 2/7 (SBI CLERK PRE 2021) ==
2) 382/5 = =

3) 322/5
4) 42 6/7

5) 48 6/7
Mark for Review & Next Clear Response
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QUESTION 6 Right mark: 1 Negative mark: 0.25

Ueh ehTa I ST st 31 forent st ffSra snta 2, ues sh shimd 60 T i feheTiam TR 105 7[5 e @ v
Hur wfer femettoma 31 378 v wrammad § firerman wa o 3t wafed arqura 7: 2 emafy @y | @
forfora forem =Y 100 T e ferenama hY =2 @ A=raT B, O STt o ufaera feraar om?

A shopkeeper blends two varieties of sugar, one costing Rs 60 per kilogram and

Rs 105 per kilogram. The respective ratio of quantities they were mixed in was

7:2. If he sold the mixed variety at Rs.100 per kilogram, how much was his profit I o o) [l e
percentage? (SBI CLERK PRE 2021) et

1) 342/7 el
2) 38 2/5 e EiE
3) 32 2/5

4) 42 6/7

S) 48 6/7 j

Mark for Review & Next Clear Response
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QUESTION 7 Right mark: 1 Negative mark: 0.25

Teh SSHT SRMER A U TEG o Tod § 80% ht qheg hT 3TR Ik 1S AT 25% PE AT S, [ v
AT THMER ATk Tk FIT ATt ToReATIT 20% 3TFareh Wt oaT ¢ SR aTeeh ot Uid
foReATIT 10% W T 31 A1 915, 1TH SfoTa )T 2

A dishonest shopkeeper increased price of his article by 80% and after that he

gives 25% discount. If shopkeeper takes 20% more quantity per Kilogram by k|
wholeseller and gives 10% less per kilogram to customer. Then what is net profit I 7 Z ° 5 :
percent? (IBPS CLERK MAINS 2022 |
1) 80% i
2) 70% |
3) 60% 2| | 2

4) 50%

S) NOT

Mark for Review & Next Clear Response Save & Next
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Question Type : singlechoice

QUESTION 7 Right mark: 1 Negative mark: 0.25

Ueh ASWT GoHER AT 6T o Tod § 80% i Ffeg T TR IHeh 14 I8 25% PE AT S, *
ATS THTER of1eh Torshar g Sfer foRearrm 20% 3Tfares AT e § i uTeeh ot Wi
foReATIT 10% W T 31 A1 915, 1TH SfoTa )T 2

P

“| Answered v Not Answered

I92 ' Not Visited o g::k:d for

A dishonest shopkeeper increased price of his article by 80% and after that he | ““ @
gives 25% discount. If shopkeeper takes 20% more quantity per Kilogram by G -
wholeseller and gives 10% less per Kilogram to customer. Then what is net profit |9 o b o

percent? (IBPS CLERK MAINS 2022

1) 80% el

2) 710% 25| [ 25 [ 22| 28

3) 60% B

4) 50%

5) NOT

Mark for Review & Next Clear Response
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QUESTION 8 Right mark: 1 Negative mark: 0.25

ek St 3 3 He ST GO B o G H T 31 2 H S GO 1 S T ST [ g

H U TIQ. 98 3v¢ (HeTTaT § 3T Tl ol 2 $UA | 3 Ha¥ il T | 9ol | WAd-aa | e

IHhHT ATH/FTIH Yo T ShITSTA? T

A man bought some oranges at the rate of 3 oranges per rupee and same number :;m YT

of oranges at the rate of 2 oranges per rupee. He mixes them and sold all at rate e

of 3 oranges for Rs 2. Find his profit/loss% in the whole transaction? l 93 ° 5 :
(RRB PO MAINS 2021)

17 18 19 20
|

1) 45% profit =

21 22 23 24

2) 60% profit 2| [ ][
3) 45% loss L2 W

4) 60% loss

5) 20% profit |

Mark for Review & Next Clear Response
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Question Type : singlechoice

QUESTION 8

Right mark: 1 Negative mark: 0.25

Teh STk = 3 Tt If S0 b1 8 Ho S T AR 2 Hat Tfd S0 bl 50 & qHI S
W T GG, IE 378 (HETTaT ¢ Sf Tl ot 2 503 § 3 HaX ht X Y =@l | Wad-o |

IHRT ATH/BTY T h T2

A man bought some oranges at the rate of 3 oranges per rupee and same number

of oranges at the rate of 2 oranges per rupee. He mixes them and sold all at rate

of 3 oranges for Rs 2. Find his profit/loss% in the whole transaction?

(RRB PO MAINS 2021)

1) 45% profit
2) 60% profit
3) 45% loss
4) 60% loss
5) 20% profit

Mark for Review & Next Clear Response

v Review




